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GRADE: …………… / 20
THE CURIOUS INCIDENT – the investigation – CHAPTERS 101-109 – test

Answer the following questions, keeping in mind this is meant to check how much you KNOW about the book. It is not a written expression exercise. Be CONCISE but ACCURATE.

1) Why does Christopher digress from his story in Chapter 101?
……… /2
He digresses from his story because he must have been shaken by Mrs Alexander’s revelation and he reassures himself by talking about what he masters the most, that is to say mathematics.
2) What proves in Chapter 103 that Christopher has a gift for mathematics?
……… /2

In Chapter 103, what proves Christopher’s gift for mathematics is that he can multiply all kinds of numbers very easily, and he finds the result almost immediately.
3) What does Christopher do in the garden in Chapter 103 and what for?


……… /2,5
He observes things/ the sky and the clouds, he listens to the noises he can hear and he smells the air in order to be able to write descriptions in his book.
4) Mention THREE qualities that Christopher has in common with Sherlock Holmes (Chapter 107).
……… /1,5
an excellent capacity for observation, concentration and reasoning
5) In Chapter 109, why is Siobhan worried about Christopher? (2 ideas).
……… /2
Siobhan is worried because she knows that Christopher has learnt about his mother’s affair with Mr Shears, so she thinks that he’s sad about this piece of news.
